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EHEE | KEEKE J9x>IRI—=ILLTF 147,000 161,000 161,000 112,000
EHEE |759 22 MR foE 161,000 168,000 - -
EHEE | 75922 B BE - - 168,000 -
THBE  (MRERE 77—, >y aRT =L 370,000 370,000 370,000 294,000
EHEE |[oluweYw s (B)=Y - 245,000 245,000 210,000
BHEE  |[FoLweYv Y (B)=Y 35,000 - - -
EHEEE | P SNILELE Ja—nNA 2T yvaRT—IL 100,000 - - -
mHAER |75 27— b AE B 35,000 - - -
EHAER | KRS wE B - - 175,000 -
—B#@#EBR [Y—7352 T2 #7F 17,500 - - -
— BB Z:%4 TAYENTT ez e 78,500 55,300 53,000 43,800
—B&E  |R—t5—Y itk FR 21,000 - - -
—B#AEBR |V llFrr Rl TSIy 55,500 18,800 - -
—BH#HEBR | RIS T b hE ER/ 30,400 | 4,800 - -
— BARER LYy >F5a ro5r=vT ey 62,000 - - -
—B#ER |2-E—#HKE < Y) & nBERERIAR 36,500 - - -
NLFA2=F4— |EHEbE 30,000 30,000 30,000 -
(D) l,179,400 1,062,900 1,202,000 659,800




